S SIEI0lE ARl
M 4% MY DUEA ZH(SEXNANY/HL)
Sl ALK S=8 Z2IAE E4 (cho):
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SN0l Ef &H 1t 22,835,028 13,212,110 9,622,918
= 6,022,000
Jl 9,599,000
= 7,214,028
AXp S QAT A ZE(FERXXONL /=) 16,133,940 8,271,673 7,862,267
= 600,000
7l 9,599,000
L= 5,934,940
S0UHX 58 SaAH x4 16,133,940 8,271,673 7,862,267
= 600,000
Il 9,599,000
= 5,934,940
A0LE CIOIEAIEl =4 8,100 6,500 1,600
201 2egr=3| 2,100 3,500 21,400
01 AtR2t2lt] 2,100 3,500 21,400
OX=20t X222 23 2,100
202 04l 6,000 3,000 3,000
01 =LHN LI 6,000 3,000 3,000
Z0IUX =8 2d4H &2 =4 6,000
SctRE HIOIHME 52 += 31,000 98,000 A\67,000
201 er23y| 26,000 21,000 5,000
01 AtR2t2|HI 26,000 21,000 5,000
OK-CLOD PARK EXt=Al S22 A S 26,000
202 04| 5,000 5,000
01 =LHO LI 5,000 5,000
OK-CLOD PARK SAt=XI OHHIE =& 5,000
oz 20l Il RE(2IHAEXH) 675,840 675,840
308 AHXIEMSOIH 675,840 675,840
18 SIS0t oA AS A 675,840 675,840
OSAJ1g 2U0IH AEIESXAME 23 675,840
Loz B0l MEIA EE F(21) 3,366,000 1,833,333 1,532,667
) 2,020,000
= 1,346,000
207 AR 3,366,000 1,833,333 1,532,667
Il 2,020,000
= 1,346,000
02 MAHHZHI 3,366,000 1,833,333 1,532,667
od2oz U0l MHlA SE 2= 3,366,000
7l 2,020,000
=S 1,346,000
SUHEX T JIBAIETIR(S1) 2,850,000 3,000,000 150,000
= 600,000
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SA: 2OolE &S

B 43 el é%EAI EH(RELR SN /2T
Chol: 20K S=E ZUAH X4 (Shol: % 2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 2,250,000
403 MR EHSAHE01H 2,850,000 3,000,000 150,000
[ 600,000
= 2,250,000
01 XM =2 E 2,850,000 3,000,000 A150,000
52 MAMA 2,850,000
[ 600,000
= 2,250,000
SEUHUX 858 ZAH SSAIAE 2E(21) 9,203,000 2,408,000 6,795,000
Jl 7,579,000
< 1,624,000
403 MR HHMSAHE01H 9,203,000 2,408,000 6,795,000
) 7,579,000
& 1,624,000
01 AXIHHA=2 22X 9,203,000 2,408,000 6,795,000
O=20UX S5 ScAH SSALHE
= 9,203,000
Jl 7,579,000
= 1,624,000
SOOI Al SH (L33 /L) 442,000 481,000 39,000
CIOIE S4&jol HEMEIA Sal 442,000 481,000 39,000
SHI0IE 2AAE =& 66,000 81,000 /15,000
201 fer=2 3| 63,000 80,000 217,000
01 AtR2te|HI 63,000 80,000 A17,000
O=IUIOIE 24 £58 &Y 63,000
202 04| 3,000 1,000 2,000
01 =LHO LI 3,000 1,000 2,000
O=HIOIE 24AY 22 =& 3,000
THMIGH arAels JlgE OIXg =8 -8 50,000 100,000 250,000
201 er23| 30,000 100,000 A70,000
02 5234l 30,000 0 30,000
OS&g MHIA S8Z 28|18 1= 30,000
308 AtAIEHMSOIE 20,000 0 20,000
18 SISt AS A 20,000 0 20,000
OLd =48 SY NMHIA SHE 29 243t
A& 20,000
IIEAE 22X 2HH 2 (2HAEXR) 300,000 300,000 0
308 XtXIEMSO0IE 300,000 300,000
18 SI[Z S04 A A A 300,000 300,000
OJIE3E £8X3dH 29 300,000
OIZAl AEIEY OI:HIOIE MERE(2HETRIH) 26,000 0 26,000
403 MR HHMSAHE01H 26,000 0 26,000
01 AXISHHA 22 % 26,000 0 26,000

- 373 -




2A:

EZH:

© OIOIH =4l #HAEAMHIA &l

SICI0IEf &H 1t

HIUIOIE &Y SY(Les3Y/Ley)

=t (EHl: &9
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
||| o2z nreEe olcsiolGME 25 26,000
ICTE=8 A SH(AY - SAILLUUA/MHEE 6,232,000 4,430,400 1,801,600
DS
= 5,422,000
== 810,000
ICTeg =& 6,232,000 4,430,400 1,801,600
= 5,422,000
[ 810,000
SOOIBABIA B2 =& 10,000 10,000
202 048l 10,000 10,000
01 =LHOHI 10,000 10,000
O=HIOIBEAMEIA R =& 10,000
NA=EOXESEAXE(=1) 300,000 259,200 40,800
= 180,000
= 150,000
308 XXM SOIA 300,000 259,200 40,800
= 150,000
== 150,000
18 SIS0t oA AS At 300,000 259,200 40,800
OXNS=CUNESHMNA 300,000
= 150,000
& 150,000
JEUOIHAHOIA RF2S AL (IHAEX) 100,000 100,000
308 AtXIEHMSOIE 100,000 100,000
01 AXEH B EES 100,000 100,000
OLAUOIAHAHOIA FEE2E AL 100,000
ADIEYRIX 28 ¥ &b Arg (= 1) 5,822,000 3,956,000 1,866,000
s 5,272,000
== 550,000
403 X HMSX=0lH 5,822,000 3,956,000 1,866,000
= 5,272,000
& 560,000
01 A= 2L 5,822,000 3,956,000 1,866,000
OANIEYCIX 25 E &4t At 5,822,000
[ 5,272,000
= 550,000
Y2 AHI(ICI0IEf &S D) (D1EHIIEH 27,088 29,037 A1,949
=3l 27,088 29,037 1,949
2A29 J1=3hl 27,088 29,037 21,949
201 Ler23| 18,768 20,204 1,436
01 AtR2te|HI 18,768 20,204 A1,436
SEN2E AIR2ell 18,768
202 048l 5,320 5,233 87
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2A:

SICI0IEf &H It

M HE2LHHI(CIOIE A D) (DIEHIIE
&2 J|2&| (EEREE))
2 - IE!
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
01 =WO4bI 5,320 5,233 87
ORA2E SN 5,320
203 PYRF=&IH| 3,000 3,600 A600
M FA2HHRFAH 3,000 3,600 AB00
©15¢! Olat 3,000
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